AUrora

.........................................................

/N WARNING

Please install this stand according to the manual.

.......................................

Height adjustable:
38.0” ~65.0”( 96.5 cm ~ 165 cm )
Stand weight:
28.4 Ibs (12.9kg)

.......................................

Failure to secure this stand properly may result in
injury or damage to the attached tablet.

Components :

INSTALLATION INSTRUCTION
APS-2

* Step 1: Install the tube ( Place power extension cable )

=

=
= T 1 ¥ I~
Hexagon coun- Philips pan Philips pan  Philips pan Washer Hexagon wrench
tersunk screw head screw head screw head screw @10*¢5.21.0 M3(66x23)
M5x20(x4) M5x8(x4) M4x8(x4) M3x8(x4) (x4) (x1 )

} &/ mmg ‘\

Key Adjustable feet Power extension Base Base includes lockable Tube
for b:

(x2) (x4) 6ft cable (x1) (x1) i&fﬁfe;rs gtt':ggir

G H | J area: 270*170*33mm K

A i

Step 2: Place the battery in the base (if applicable)

2.1 Open the base cover

A

www.auroramm.com



Step 3: Mounting display

2.3 Lock the base cover

. E
@F_{{ B/C/D Q}

[®]

Step 5: Install adjust feet or optional casters (APS-2-CS)

S
e

www.auroramm.com



